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PROBLEMS 10.1 cossssssssssssssssssssssssssssssssss

In Problems 9-34, find the limits.

9. li(q 16 10. lim‘?_x
1. lim (7 - 5) 12 lim,—/3(2 +7)
t——
. 4r—3
13. lim 3F —47@ +2x—3) 14, lim —
x——2 —9 11
— ] 2
15. lim —= 16. lim 8
——31+5 ——6 Xx—6
Z-5:-4
17. lim ——— 18. lim —
=0 —1+7 =0 241
19. lim VPR +p+5 20. lim ¥+ 3
p— y—
2 7 .
21. A 2. fim,_, =1
——2 X+ 2 X = l
ol . . a, 3 vl
23, lim ——* 24, tim =30
—r x—2 A F—ar
25, fim ——*—© 26. lim —
—3 x—3 —=21-2
2 2_1
27. rrC 28, lim ——
——2x2 - x—0 X
X —9x+20 X —81
29. i . lim ———
>4 2 —3x—4 30 hm Rt 15
2 2 _ .5
31 lim o <10 32 lim 2
—2 X2 +5x—14 —2 X—-4
) 2 _ 92 )2 _
33, lim Q@+h -2 34, lim a+2) -4
h—0 h x—0 X
Solutions:
9. lim16=16
x—2
10. lim2x=2(3)=6
x—3
1. lim (:2 —5)= (-5)2-5=25-5=20
1—-5
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12.

13.

14.

15.

16.

17.

18.

19.

21.

lim (3r-5)= 3(1) 5=

1—1/2

19| W
N|5

|
[SS) BN

lim (3x —4x% +2x -3)

x—-2

=3(=2) —4(-2)* +2(-2)-3
=-24-16-4-3

=—47

lim 4r-3 _ 49)-3 _ 36-3 =£=

r—9 11 11 11 11

lim (r—=2)

_1=-3 —3—2 -5 5

lim(r+5) —3+5 —? =—3
1—-3

=2

im
t—-31+5

. 2
i 46 _ _r'_‘,“]o(" +6) _(6)+6

t—-6 x—6 lim (x—6) (—6)—6
x—-6

lim¢
1—=0

lnm(t3 —41+3)
_;
0% —4(0)+3

lim 3
=0 —41+43

Swlo

lim(z2 -5z-4)

lim(z2 +1)

=0
_07-5(0)-4

0% +1
=—4

5

" —5z-4
2
=+l

=0

l!i_r’n“Jpz +p+5 =J;i_n)14(p2+p+5)

P ra+5=25=5

lim Jy+3=J1im (y+3) =\15+3 =418
y—=l15 y—l5
=32

2,4 ”
fim X2 pim XD i x=m2
—-2 x+2 —-2 x+2 x—-2

2
2. lim L O (r+l)(t l) ml=1
x—-1y= —1 1—>—I(\’+|)(\’ l) x—-1
2 _ -2 )
23, lim X222 _ iy (220D
=2 x-=2 x—2 x-2
—Ilm(r+l) 3
x—2
3,42 2
2. limZ g £ g, 1233
=03 — 42 15021 —-4) —01-4 4
2
2 _ _ 2
25, fim > X0 _ jjy X3+
P B x—3 x-3
=lim(x+2)
x—3
=5
2_ 2Nt —=2
26. tim =2 im CE20=D 42y =4
=2 1=2 =2 =2 1—2
27, tim = i X4
=4 y=—16 x—-4(x+4)(x-4)
. |
= lim
x—-4x—4
-1
8
2_» )
28. lim X =2 = im X2 _ in(x-2)=—2
x—0 X x—0 X x—0
- _ 2 _ _
29. lim Y’ 9.r+-0=lm(.r 4)(x-5)
=4y~ —3x—4 x—=4(x—=4)(x+1])
. x—5 1
= lim =——
x—4 x+1 5
2 2
30. lim _ -81 m (x“+9)(x~-9)
x—-3 x*- +8l’+15 x—=-3 (x+3)(x+5)
(T +9)x+3)(x—3)
x—-3 (x+3)(x+5)
2
lim (x™+9)(x-3)
x—-3 x+5
=-54
3% —x-10 (Bx+5)(x—2)
31, lim — = lim
=2 3% 1 5y—14 =2 (x+7)(x-2)
g 3XE5 11
=2 x+7 9
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